
Strimko	
  1	
  
	
  
The	
  object	
   of	
   the	
  puzzle	
   is	
   to	
   fully	
   fill	
   in	
   the	
   given	
   grid	
  with	
  missing	
  numbers	
  
observing	
  three	
  simple	
  rules.	
  	
  
	
  
Rule	
  1	
  	
  	
  Each	
  row	
  must	
  contain	
  the	
  numbers	
  1-­‐4.	
  	
  
	
  
Rule	
  2	
  	
  	
  Each	
  column	
  must	
  contain	
  the	
  numbers	
  1-­‐4.	
  
	
  
Rule	
  3	
  	
  	
  Each	
  group	
  of	
  4	
  connected	
  squares	
  must	
  contain	
  the	
  numbers	
  1-­‐4.	
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